o T ol g W Folhbem ) A
=

B~6cm~C~6cm~

>
> &2 6v5 cm

BE = V122 + 62 = 144 + 36 = VI80 = 6 V5(cm)




FEBH y = (r43)7 41,y = (v-2)2 -4 O B Al o] A2l S
Fafoler.

» £
> HE . 542

0

B

y=(x+3)2+19 FAHL (-3, 1)
y=(x-22-49 FAHL (2, -4)

upeba] = BRI Apolo] AR \/2+3)2+(-4-1)2 =
VB + (52 =5V2 o[t




(@)33

@ 6V3

2|

:

93 0|82 42 = 36




kgt Zol el golzk 8, W] L]t 491
ol 54714 o] Hol

®4vZ @uVE G 4VIT @ 4VID O 4V

o155 WA ] ol

V82 -22 = V64 —4 = V60 = 215
(HoT) = 4x2VT5 x 5 =4VT5




thS 104 AABC 9] Y o]=?

®4v3 @38
@7vi ©)sv3

B

® 6V3

A A oA BCol W™

AH:4=+3:2
~LAH=23

s
%

9l

H 2 5tH AABH °|A] AH : AB

1
.'.AABC:§x8x2\/§:8\/§

=1g
=

©o
=




ohe T3 Zol gatile] Aok 2v2 e A D
o

BD:BC= V2:1°]E2 BC =2
= Q9] Aol 20|22 IR E2 1

whebd ot 99 ol nx 12 = o]k,




ABC ©] 3

1m0
N
~H

70

15

G}:—Z T

al

KA

wiE

©
)

o}

7.

o8 Fstolel.

6 V3(cm)

= x9=6(cm)

@
<




7} o] Al wie] Holt 4, VAT, 5
ABC 9] 0| AH & 51917

©2 @2vz2 O3 @)2v3 O 3V2

ﬁ:xal:l:—tﬂc_H:E)—x
42 2% = (V212 - (5-x)?, x=2
E: V42—22: \/ﬁ:2\/§




oh& ZAMEE ABCD 9] + H3 A A, C Aoocdome D

oA thztd BD o] W€l $419] B 747t ,
E, F 2 & o, DAECF ¢ Ho]=? ,

3cm
\
\\ E
B
8 84
© g om? @) 5 em? ® 12em?
@ 113 cm? ® 12 V3 cm?

B

BD = V32 142 = 5(cm)

5xAE =3x4
— 12
_ T /19\2
B= #-(5) =5 (m

ﬁzﬁom;ﬁ:5_2x§:§(cm)

12 7 84
OAEC 5 ><5 25(Cm)




_ 1 — -

10, olAbehs y = 0% + 2x— 1 ©f e e} BRIy ko]
293 FHE oo] A4S wEIT o] A4 o el o] dolrt
a+bye D, a+b+c o H2UD, a,b,c= T, c= a9
2FA4)

@6 @ 8 ® 10 @)12 ® 14

ZAA) FEE (4, 3) oIk,

<
A
[
1o
El
o
rlo
=
)
H
N
(@)
o,
B=)
o
O
Hul

0, - 1)

= /(4-02+3-02=5

y Z7e] wH-9d o] A =1
2217y Z7}o] W) A

= V/(4-02+B-(DP=4V2
wﬁﬂ—'ﬂ #H=6+4V2 o|B&




